Genetics WS E – Blood Type Cross

· Cross the following, do the Punnett Square and determine the phenotype percentages.

Assume:

A = AA or AO

B = BB or BO

AB = AB

O = OO


	
	

	
	



	
	

	
	



	
	

	
	



	
	

	
	



	
	

	
	


	

	

	
	



	
	

	
	



	
	

	
	


	

	

	
	



	
	

	
	


	

	

	
	


Heterozygous A x type AB





Phenotype %:





Heterozygous A x Heterozygous B





Phenotype %:





Heterozygous B x type O





Phenotype %:








Homozygous A x type O





Phenotype %:








Heterozygous A x type O





Phenotype %:








Homozygous A x heterozygous B 





Phenotype %:








Type AB x type AB 





Phenotype %:








Father AB x Mother B


*(One son is type A)








Parents:		_____________   X   ______________





type A x type O


*(One son is type O)








Parents:		_____________   X   ______________





type B x type B


*(One daughter is type O)








Parents:		_____________   X   ______________





Mother type O x Father type unknown


*(One daughter is type B and one son is type A)








Parents:		_____________   X   ______________








